Total Marks:12 Class:9th Time:15min

Subject:Physics(Objective)
Choose the best answer.Cutting overwriting and use of inkremover is not allowed

' Which is the smallest Quantity -ad;"” Py u) e
A.0.01g B.2mg C.100M8 D.5000ng

° Which of the following is a vector quantity _‘éf"{” .44 U/ J. C’—U:J:L?Jﬂ" ’
a.speed b.distance Air-a
c.displacement d.power slod sk J3-c

3 The motion of the pendulum of a clock is: _LJY‘ K/u/ &JLK 3
a. Rotatory b. Vibratory S A4 b S A
c. Circular d. Random ¢ 4zi-d gy

4 INisequalto ,4‘,/,1/.(_-;;:'..{! 4
a. lkgms b.1kg's" a. lkgms b.lkg s’

o1 - -1 -1

c. lkgms d. lkgm S C. lkng d. lkgm S

5 The altitude of geostationary orbits in which

S S M/qu’_fﬂ S
_ad}’:.,u"/i/dﬂw(w

communication satellites are launched
above the surface of the Earth is:

a.850km b.1000km a.850km b.1000km
¢.6400km d.42300km ¢.6400km d.42300km
6 Th ') . . . P .~ 6
e value_zof g on Mars is ) eed d/g/.:f//
a.3.73ms | b.1.62ms a.3.73ms b.1.62ms"
c.8.81ms d.10ms c.8.81ms” d.10ms”

7 The work will be maximum when angle 2 Ugly /;LM JInl u’,}_,»,%m;pg_/ 7
betvgeen force and dlsglagement is: 0’-b 45" _a
B d. 130’ 180'-d 90 —c

8 The kinetic energy ©fbody of mass 2kg is n,é{gfl-gd;?ZS &/!.J;égd/().f’ é('/!g?./ 8
25J. Its speed will be: y L ) _J
a.5ms ; b.l2.5m_sl a.5ms b.12.5ms
C. 25ms d. 50ms c.25ms d.50ms”

9 The lightest one substance is: e iuqé_/ 9
a. Copper b. Mercury S J ,-b L Z K..a
c. Aluminium d. Lead 4 (::” e
(S):a;::{;l}ls scale 50 C is equal on Fahrenheit bl e JSCJQ 650°C ‘ J:C u:,A“/

* 0. 0.
a. 100'F b. 102'F a.100 F e o
c.122°F d.90'F &l22 F ki

" What happens to the thermal conductivity of G A Lf Iz LS e ;’;uf B
a wall if'its thickness is doubled? -Ldln’f sIb . _Ld’ J($s-a
a. Remain same b. Becomes half -g(}ln’b(u-d -ag}lardl.w’i.f!_c
c. Becomes one fourth d. Becomes double

12 The ways by which transfer of heat takes _ujé’:’“_/ﬁ el 7 12
are:

a.l b.2 a.l b.2
o3 d.4 c.3 d.4
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